LUM12 SR

Printed Matter No. 9836 9272 01 Screwdriver
Publication Date 2023-12-07

Valid from Serial No. B0440001 PrOdUCt InStrUCtionS

LUM12 SR3LUM12 SR2LUM12 8431027833843

SR4LUM12 SR1 1027834843102

(0.40.50.40.6-3.52.54.51.8 Nm) 7832843102783
5

/A WARNING
Read all safety warnings and instructions
Failure to follow the safety warnings and instructions may result in I
electric shock, fire and/or serious injury. ‘L[l a
Save all warnings and instructions for future reference .




Table of Contents

Product Information..........cccciiiiinci s 4
General INformation ... ....ooo i 4
Safety Signal WoOrdS .......oooiiiiiiieiee e 4
WAITANTY e 4

VW EDSIEE. .. 4
SEIVAI ... 5

Safety Data Sheets MSDS/SDS.........ocuiiiiiiiiiiieeieee e 5
Country Of OFigiN ...oeeeeiee e seree e 5
DIimensional DraWingS ........coooiiiiiiiiiiiiieie e e e e e 5
OVBIVIBW ...ttt e e e e e e e e e ettt e e e e e e e e e e e e e nnneneeeeeaaaeeeennnnes 5
Technical Product Data ... 5
INStallation ... 6
Installation ReqQUIremMENtS ........ovvviiiiiiiiiee e 6
AT QUATRY e 6

Air LUubrication GUIE ........cceeiiiiiiie i 6
Compressed Air CONNECHION..........ccccuiiiiiiiiieieee e 6

(0] oY= - 1o o R 7
Ergonomic GUIAEIINES..........uuiiiiiiiiiee e 7
Configuration INSTFUCLIONS ........eeiiiiii e 7
Tightening torqUE ... 7

ST = 9
Maintenance INSrUCHIONS .........eeiiiiiiiiie e 9
Service Recommendations. ..........cuueiiiiiiiiiii i 9
Service INSIUCHIONS ......ueiiieiiieie e 9
Tightening of Threaded ConNections ............cocceeiieiiiiiieee i 9
Grease Guide SCreWdriVEIS .......ueeiiiiiiiiiee e 9

For Maximum Performance ............coocuiieeiiiiiiee e 10
Reporting, RE - Signal.........coooiiiiiiiieee e 10
Lubrication INStrUCHONS .........ueeiieieeee e 10
Rust Protection and Cleaning...........ccccvveiiiiiiiee i 10
Grease Guide SCreWdriVErS .........eveiiiiiiiiiie e 10
Lubrication of Motor Parts ... 11

For Maximum Performance ............coocueiiiiiiiiiie e 11
Testing of Tightening TOrQUE..........ccoiiiiiiiiiii e 11
Torque and Angle Testing Instrument ..., 11
Testjoint and TranSAUCET .........cceviieeeiiiiccceeeeee e 12

Test joints - High torque range ... 14

Air pressure monitoring, RE-signal S1...........cccocciiiiiiii e 14
Free speed / Air CONSUMPLION .......ciiiiiiiiiiiiciieeiee e e e e 15
Instructions for vane MoOtOr ..........oooi i 16
Testing of tightening torque ... 16
Torque and angle testing instrument.........ccccccceveeeiiiiiccie e, 16
Testjoint and TranSAUCET ..........ocoiiiiiiiiiiii e 17

2 © Atlas Copco Industrial Technique AB - 9836 9272 01



RECYCHING ..ottt —————
Environmental Regulations........cccooooiiiiii i
Recycling information ...

© Atlas Copco Industrial Technique AB - 9836 9272 01



Product Information EN LUM12 SR

Product Information

General Information

/\ WARNING Risk of Property Damage or Severe Injury

Ensure that you read, understand and follow all instructions before operating the tool. Failure to follow
all the instructions may result in electric shock, fire, property damage and/or severe bodily injury.

» Read all Safety Information delivered together with the different parts of the system.

» Read all Product Instructions for installation, operation and maintenance of the different parts of
the system.

» Read all locally legislated safety regulations regarding the system and parts thereof.
» Save all Safety Information and instructions for future reference.

Safety Signal Words

The safety signal words Danger, Warning, Caution, and Notice have the following meanings:

DANGER DANGER indicates a hazardous situation which, if not avoided, will result in death or se-
rious injury.

WARNING WARNING indicates a hazardous situation which, if not avoided, could result in death or
serious injury.

CAUTION CAUTION, used with the safety alert symbol, indicates a hazardous situation which, if
not avoided, could result in minor or moderate injury.

NOTICE NOTICE is used to address practices not related to personal injury.

Warranty

®  Product warranty will expire 12+1 months after dispatch from Atlas Copco's Distribution Center.
B Normal wear and tear on parts is not included within the warranty.

B Normal wear and tear is that which requires a part change or other adjustment/overhaul during
standard tools maintenance typical for that period (expressed in time, operation hours or other-
wise).

B The product warranty relies on the correct use, maintenance, and repair of the tool and its component
parts.

B Damage to parts that occurs as a result of inadequate maintenance or performed by parties other
than Atlas Copco or their Certified Service Partners during the warranty period is not covered by the
warranty.

B To avoid damage or destruction of tool parts, service the tool according to the recommended mainte-
nance schedules and follow the correct instructions.

B Warranty repairs are only performed in Atlas Copco workshops or by Certified Service Partners.

Atlas Copco offers extended warranty and state of the art preventive maintenance through its ToolCover
contracts. For further information contact your local Service representative.

For electrical motors:
B Warranty will only apply when the electric motor has not been opened.

Website

Information concerning our Products, Accessories, Spare Parts and Published Matters can be found on
the Atlas Copco website.

Please visit: www.atlascopco.com.

4 © Atlas Copco Industrial Technique AB - 9836 9272 01


http://www.atlascopco.com

LUM12 SR EN Product Information

ServAid

ServAid is a portal that is continuously updated and contains Technical Information, such as:
B Regulatory and Safety Information
B  Technical Data
B |nstallation, Operation and Service Instructions
B Spare Parts Lists
B Accessories
®  Dimensional Drawings
Please visit: https://servaid.atlascopco.com.

For further Technical Information, please contact your local Atlas Copco representative.

Safety Data Sheets MSDS/SDS

The Safety Data Sheets describe the chemical products sold by Atlas Copco.
Please consult the Atlas Copco website for more information www.atlascopco.com/sds.

Country of Origin

For the Country of Origin, please refer to the information on the product label.

Dimensional Drawings
Dimensional Drawings can be found either in the Dimensional Drawings Archive, or on ServAid.
Please visit: http://webbox.atlascopco.com/webbox/dimdrw or https://servaid.atlascopco.com.

Overview

Technical Product Data
Technical Product Data can be found on either ServAid, or the Atlas Copco website.
Please visit: https://servaid.atlascopco.com or www.atlascopco.com.

© Atlas Copco Industrial Technique AB - 9836 9272 01 5


https://servaid.atlascopco.com
http://www.atlascopco.com/sds
http://webbox.atlascopco.com/webbox/dimdrw
https://servaid.atlascopco.com
https://servaid.atlascopco.com
http://www.atlascopco.com

Installation EN LUM12 SR

Installation

Installation Requirements
Air Quality

B For optimum performance and maximum product life we recommend the use of compressed air with
a maximum dew point of +10°C (50°F). We also recommend to install an Atlas Copco refrigeration
type air dryer.

B Use a separate air filter which removes solid particles larger than 30 microns and more than 90% of
liquid water. Install the filter as close as possible to the product and prior to any other air preparation
units to avoid pressure drop.

o For impulse/impact tools make sure to use lubricators adjusted for these tools. Regular lubricators will
add too much oil and therefore decrease the tool performance due to too much oil in the motor.

o Make sure that the hose and couplings are clean and free from dust before connecting to the tool.

o Both lubricated and lubrication free products will benefit from a small quantity of oil supplied from a lu-
bricator.

Air Lubrication Guide

Recommended air lubricators:
®  Atlas Copco Optimizer (1 liter) 9090 0000 04
® Q8 Chopin 46
= Shell Air Tool Oil S2 A 320

Compressed Air Connection

/\ WARNING Risk of severe injury
Air under pressure can cause injury.
» Always shut off the air supply when not in use or before any adjustments.

» Drain the hose of air pressure and disconnect the tool from air supply when not in use or before
any adjustments.

» Always use the correct hose size and air pressure for the tool.

/A WARNING Compressed Air
High air pressure can cause severe damage and bodily injury.
» Do not exceed maximum air pressure.
» Make sure that there are no damaged or loose hoses or fittings.

For correct air pressure and hose size, see the Technical Product Data on - https://
servaid.atlascopco.com or www.atlascopco.com.

o Make sure that the hose and couplings are clean and free from dust before connecting to the tool.

6 © Atlas Copco Industrial Technique AB - 9836 9272 01


https://servaid.atlascopco.com
https://servaid.atlascopco.com
http://www.atlascopco.com

LUM12 SR EN Operation

Ergonomic Guidelines

Consider your workstation as you read through this list of general ergonomic guidelines to identify areas
for improvement in posture, component placement, or work environment.

Take frequent breaks and change work positions frequently.
Adapt the workstation area to your needs and the work task.

B Adjust for a convenient reach range by determining where parts and tools need to be located to
avoid static load.

= Use workstation equipment such as tables and chairs appropriate for the work task.
Avoid work positions above shoulder level or with static holding during assembly operations.

B When working above shoulder level, reduce the load on the static muscles by lowering the weight
of the tool, using for example torque arms, hose reels or weight balancers. You can also reduce
the load on the static muscles by holding the tool close to the body.

E Take frequent breaks.

E Avoid extreme arm or wrist postures, particularly during operations requiring a degree of force.
Adjust for a convenient field of vision that requires minimal eye and head movements.

Use appropriate lighting for the work task.

Select the appropriate tool for the work task.

In noisy environments, use ear protection equipment.

Use high-quality inserted tools and consumables to minimize exposure to excessive levels of vibra-
tion.

Minimize exposure to reaction forces.
5 When cutting:

A cut-off wheel can get stuck if the cut-off wheel is bent or not guided properly. Use the correct
flange for the cut-off wheel and avoid bending the cut-off wheel during operation.

5 When drilling:

The drill might stall when the drill bit breaks through. Use support handles if the stall torque is high.
The safety standard ISO11148 part 3 recommends using a device to absorb a reaction torque
above 10 Nm for pistol grip tools and 4 Nm for straight tools.

® When using direct-driven screwdrivers or nutrunners:

Reaction forces depend on the tool settings and joint characteristics. Strength and posture deter-
mine the amount of reaction force that an operator can tolerate. Adapt the torque setting to the op-
erator's strength and posture and use a torque arm or reaction bar if the torque is too high.

In dusty environments, use a dust extraction system or wear a mouth protection mask.

Configuration Instructions

Tightening torque

For accurate operation and safety, the tightening torque of the screwdriver must be adjuisted correctly in
relation to the screw joint. Check the torque specification for the actual joint.

The tightening torque is adjusted by altering the tension of the clutch spring. Turn the protection ring until
the hole in the clutch housing is free. Then turn the out going spindle until you can see the keyhole in the
adjustment washer. Turn the adjustment key clockwise to decrease and anticlockwise to increase the
torque. After the adjustment, turn the protective ring back again.

Verification of tightening torque

Recommended equipment for verification if tightening torque are an Atlas Copco Torque Analyser plus an
appropriately-sized transducer together with the available test joints.

© Atlas Copco Industrial Technique AB - 9836 9272 01 7



Operation EN LUM12 SR

Torque range of the clutch springs

0 Each clutch spring gives a certain torque range. Do not adjust the torque over the maximum recom-
mendation as that might result in improper function and faster wear of the clutch.

8 © Atlas Copco Industrial Technique AB - 9836 9272 01



LUM12 SR EN Service

Service

Maintenance Instructions

Service Recommendations

Preventive maintenance is recommended at regular intervals. See the detailed information on preventive
maintenance. If the product is not working properly, take it out of service and inspect it.

If no detailed information about preventive maintenance is included, follow these general guide-
lines:

®  Clean appropriate parts accurately
B Replace any defective or worn parts

Service instructions

Overhaul and preventive maintenance is recommended at regular intervals once per year or after maxi-
mum 250.000 tightening depending on which occurs sooner. More frequent overhaul may be needed if
used at high torque, high cycle rate or long tightening times. If the machine is not working properly, it
should immediately be taken away for inspection.

At the overhauls, all parts should be cleaned accurately and defective or worn parts (i.e. O-rings) should
be replaced.

Tightening of Threaded Connections

The tightening torques indicated in the exploded views list in ServAid (see Spare parts section in https://
servaid.atlascopco.com) are established to achieve the correct clamping force and prevent the parts from
coming loose.

When servicing these parts, they must be able to open up without being destroyed. In special circum-
stances (depending on application and usage) the parts may however come loose after some time of op-
eration. In such cases the torque can be increased by 10-20%. If necessary, a low or medium threadlock-
ing fluid can also be applied.

Example

5002140

Grease Guide Screwdrivers

General purpose

Bearings Air Lubrication
BP Energrease LS-EP2 Energol E46
Castrol Spheerol EP L2
Esso Beacon EP2 Arox EP46
Q8 Rembrandt EP2 Chopin 46
Mobil Mobilegrease XHP 222 Almo oil 525
Shell Alvania EP2 Tonna R32

© Atlas Copco Industrial Technique AB - 9836 9272 01 9


https://servaid.atlascopco.com
https://servaid.atlascopco.com

Service EN LUM12 SR

10

General purpose

Bearings Air Lubrication
Texaco / Preem Multifak EP2 Aries 32
Brand Clutch / Gears Angle gears
Molycote Longterm 2 Plus
Lub. engineers LE 3752

" except, see Clutch in exploded views

For Maximum Performance
At tough working conditions — soft joints and max. setting — lubrication of the air is recommended.

With extreme dry air the service life of vanes and machine performance might be reduced. A daily supply
of 0.1 — 0.2 ml oil into the machine inlet will improve the machine performance. Alternatively consider an
automatic lubricator device, Atlas Copco oil lubricator LUB, or single point lubricator DOS, which will im-
prove the machine performance.

Reporting, RE - Signal

Reporting (RE) machines supply an air signal that can be connected to a monitoring instrument that
counts the number of approved tightening and detects premature shut-off and rehits and other irregulari-
ties.

Lubrication Instructions

Rust Protection and Cleaning
Water in the compressed air can cause rust. To prevent rust we strongly recommend to install an air dryer.

Water and particles can cause sticking of vanes and valves. This can be prevented by installing an air fil-
ter close to the product to avoid pressure drop.

Before longer stand stills always protect your tool by adding a few drops of oil into the air inlet. Run the
tool for 5-10 seconds and absorb any access oil at the air outlet in a cloth.

Grease Guide Screwdrivers

General purpose

Bearings Clutch Air Lubricacion
BP Energrease LS-EP2 Energol E46
Castrol Spheerol EP L2
Esso Beacon EP2 Arox EP46
Q8 Rembrandt EP2 Chopin 46
Mobil Mobilegrease XHP 222 Almo oil 525
Shell Alvania EP2 Tonna R32
Texaco/Preem Multifak EP2 Aries 32
Lubricating Engineers LE 3752

© Atlas Copco Industrial Technique AB - 9836 9272 01



LUM12 SR EN Service

Brand Gears Angle gear

Molycote BR2 Plus Longterm 2 Plus

Lubrication of Motor Parts
T - @’

B 9 10

; \ \
o d
b et - .
0 \ﬂ ®© © © © 2
==
o B No grease is needed for protected Ball bearings.

B Apply a thin layer of air tool oil where needed.

s

5002521

For Maximum Performance
At tough working conditions — soft joints and max. setting — lubrication of the air is recommended.

With extreme dry air the service life of vanes and machine performance might be reduced. A daily supply
of 0.1 — 0.2 ml oil into the machine inlet will improve the machine performance. Alternatively consider an
automatic lubricator device, Atlas Copco oil lubricator LUB, or single point lubricator DOS, which will im-
prove the machine performance.

Testing of Tightening Torque

For accurate operation and safety, the tightening torque of the screwdriver must be adjuisted correctly in
relation to the screw joint. Check the torque specification for the actual joint.

The tightening torque is adjusted by altering the tension of the clutch spring. Turn the protection ring until
the hole in the clutch housing is free. Then turn the out going spindle until you can see the keyhole in the
adjustment washer. Turn the adjustment key clockwise to decrease and anticlockwise to increase the
torque. After the adjustment, turn the protective ring back again.

Torque and Angle Testing Instrument
® |n the workshop

© Atlas Copco Industrial Technique AB - 9836 9272 01 11



Service EN LUM12 SR

17632545291

Torque transducer
Test joint
Torque and angle testing instrument

O m >

At the assembly line

17632548875

A Torque transducer
B Actual joint
C Torque and angle testing instrument

For further information, please refer to Atlas Copco main catalogue or separate leaflet.

Testjoint and Transducer
Select testjoint and transducers according to minimum and maximum torque of your tool.

12 © Atlas Copco Industrial Technique AB - 9836 9272 01



LUM12 SR EN Service

Lubricate screw and elastic washers with Molykote BR2 Plus.

Soft joints

s008840

__1/4" female hex connection

Torque range Test joint Screw size Screw quality Spare screw
(Nm) Ordering No. Ordering No.
0.2-0.6 4145 0958 78 M3x20 12.9 buy locally

0.6-2.0 4145 0959 80 M4x30 12.9 0211 1177 00
1.5-4.0 4145 0959 81 M6x35 12.9 0211 1251 00
3.0-7.0 4145 0959 82 M6x35 12.9 0211 1251 00
5.5-10.0 4145 0959 83 M6x35 12.9 0211 1251 00
10.0-25.0 4145 0959 84 M8x35 12.9 0211 1327 00

Hard joints

__1/4" female hex connection

=3
3
@
S

7]

Torque range Test joint Screw size Screw quality Spare screw
(Nm) Ordering No. Ordering No.
0.25-0.6 4145 0958 87 M3x30 12.9 buy locally

05-1.5 4145 0958 80 M4x50 12.9 0211 1181 00
1.5-3.0 4145 0958 81 M4x30 12.9 0211 1177 00
3.0-6.0 4145 0958 82 M6x60 12.9 0211 1256 00
6.0-9.0 4145 0958 83 M6x35 12.9 0211 1251 00
9.0-25.0 4145 0958 84 M8x60 12.9 0211 1332 00

In-line torque transducers - Torque/angle models

Drive Hex Drive Square Rated capacity Ordering No.
(inch) (inch) (Nm)
IRTT 1A-106 vz 1 0.8 8092 1130 96
IRTT 2A-106 vz 2 1.5 8092 1182 01
IRTT 5A-106 Va 5 4 8092 1182 06
IRTT 5A-06 Ya 5 4 8092 1182 08

In-line torque transducers - Torque models

Drive Hex Drive Square Rated capacity Ordering No.
(inch) (inch) (Nm)
IRTT 5-106 Ya 5 4 8092 1129 05
IRTT 20-106 Va 20 15 8092 1129 10
IRTT 20-06 Ya 20 15 8092 1129 15
IRTT 25-10 3/8 25 18 8092 1129 20

© Atlas Copco Industrial Technique AB - 9836 9272 01 13



Service EN LUM12 SR

Drive Hex Drive Square Rated capacity Ordering No.
(inch) (inch) (Nm) ft Ib)
IRTT 75-10 3/8 75 55 8092 1129 25
IRTT 180-13 Yz 180 133 8092 1129 30
IRTT 500-20 % 500 369 8092 1129 35
IRTT 750-25 1 750 553 8092 1129 40
IRTT 1400-25 1 1400 1033 8092 1129 45

In-line torque transducers - Torque/angle models

Drive Hex Drive Square Rated capacity Ordering No.

(inch) (inch) (Nm)
IRTT 2A-106 Yo 2 1.5 8092 1130 01
IRTT 5A-106 Va 5 4 8092 1130 06
IRTT 20A-106 Ya 20 15 8092 1130 11
IRTT 20A-06 Ya 20 15 8092 1130 16
IRTT 25A-10 3/8 25 18 8092 1130 21
IRTT 75A-10 3/8 75 55 8092 1130 26
IRTT 180A-13 V2 180 133 8092 1130 31
IRTT 500A-20 Ya 500 369 8092 1130 36
IRTT 750A-25 1 750 558 8092 1130 41
IRTT 1400A-25 1 1400 1033 8092 1130 46
IRTT 3000A-38 1% 3000 3000 8092 1130 51

Test joints - High torque range
Soft joints

=]
-
@
@
S
S

1z

Degrees at
Torque range Torque rate rated

Bolt size Nm Ordering No. Nm/rev. capacity Service kit*

M8 15 4080 0788 91 10 540 4080 0788 80
M10 30 4080 0789 91 24 450 4080 0789 80
M12 60 4080 0790 91 40 540 4080 0790 80
M14 90 4080 0791 91 60 540 4080 0791 80
M16 200 4080 0866 90 200 360 4080 0865 80
M20 400 4080 0868 90 400 360 4080 0867 80
M30 800 4080 0876 92 800 360 4080 0867 80

* Including 2x bolts, 2x nuts, 2x washers

Air pressure monitoring, RE-signal S1

Reporting pneumatic assembly tools provide a pneumatic signal that indicates which part of the tightening
cycle the tool has reached, by means of variations in air pressure.

14 © Atlas Copco Industrial Technique AB - 9836 9272 01



LUM12 SR EN Service

In the RE-Controller box timers are triggered when certain pressure levels are reached.
Pressure level 1 (P1) starts a timer that checks that the tightening cycle is not too short.

Pressure level 2 (P2) starts a timer that checks the time taken from when the clutch has been released to
when the operator releases the trigger to ensure that it is not too short.

The controller measures the differential pressure over the motor.

It should be noted that the system does not measure torque! Regular check of installed torque/torque out-
put of the tool must be done separately.

The RE-Controller checks the air-line pressure. One of the most common problems in air-line systems is
pressure variations. If the pressure drops too much the tool might stall and/or the torque will not be cor-
rect. The RE-Controller will give a signal if the pressure drops too much.

The RE-Controller alerts the operator when it detects:

B Missed fasteners

®  Premature tool shut-off
B Stripped threads

B Cross-threading

B Rehits

5 Drop in air supply

The air pressure inside the tool is measured through a small hose (see Optional accessories - RE-Signal
kit) and converted into a digital signal. This signal is processed in the RE-Controller. The RE-Controller
gives instant visual and audio feedback to the operator on whether the tightening was OK or not OK.

For further information, please see leaflet 9833 1358 01.

Free speed / Air consumption

5002670

Model r/ min I/s
LUM12 SR1 1770 515
LUM12 SR2 1350 5.5
LUM12 SR3 930 5.5
LUM12 SR4 700 5.5
LUM12 SR8-K 500 6

© Atlas Copco Industrial Technique AB - 9836 9272 01 15



Service EN LUM12 SR

Instructions for vane motor

Dismantling Service tools are also included in our
Basic Service Tools Set. For further
information see, Ordering No. 9835 5485 00

Dismantling tool Mandrel A

A OrderingNo. @D

@C
4080 0182 01 7 3.5
4080 0182 02 8 45
4080 0182 03 9 5.5
6.5
8.5
0.5

4080 0302 00

4080018204 10
4080018205 13

4080018206 16 10.

4080018207 19 125
4080018208 22 15.5
4080018209 24 17.5
oC 4080018210 26 20.5

@D 4080018211 30 25.5
4080018212 35 30.5
4080018213 40 355
4080018214 47 405

Inspection of motor parts

P
(@@_@ﬁ@” &
> >

Assembly - according to Béckstréms method

Service tools are also includedin our
Basic Service Tools Set. For further
information see, Ordering No. 9835 5485 00
B B
Assembly tool Mandrel B
‘ ‘ Ordering No. @D @cC
B 4080 0567 04 125 5.2
> > : .
9 4080 0567 11 145
4080 0567 01 155
‘ ‘ 4080 0567 05 18.5

OIL

6
5
6
@ C_-F 4080 0567 02 18.5 8.
@ @ I”_ 4080 0567 06 215 7.
8

4080 0567 03 21.5 8.
4080 0567 07 25.5 10.5

oG

4080 0567 08 27.5 12.5
oD 4080 056709 31.5 15.5
| | 4080 0567 10 34.5 18.5

Ball bearing N\

5002530

Testing of tightening torque

Torque and angle testing instrument
ACTA* 3000/ 4000. For further informatiom, please see our main catalogue or separate leaflet.

16 © Atlas Copco Industrial Technique AB - 9836 9272 01



LUM12 SR EN Service

Testjoint and Transducer
Select testjoint and transducers according to minimum and maximum torque of your tool.
Lubricate screw and elastic washers with Molykote BR2 Plus.

Soft joints

__1/4" female hex connection

S
@
@
S
73

Torque range Test joint Screw size Screw quality Spare screw
(Nm) Ordering No. Ordering No.
0.2-0.6 4145 0958 78 M3x20 12.9 buy locally

0.6-2.0 4145 0959 80 M4x30 12.9 0211 1177 00
1.5-4.0 4145 0959 81 M6x35 12.9 0211 1251 00
3.0-7.0 4145 0959 82 M6x35 12.9 0211 1251 00
5.5-10.0 4145 0959 83 M6x35 12.9 0211 1251 00
10.0-25.0 4145 0959 84 M8x35 12.9 0211 1327 00

Hard joints

s008830

__1/4" female hex connection

Torque range Test joint Screw size Screw quality Spare screw
(Nm) Ordering No. Ordering No.
0.25-0.6 4145 0958 87 M3x30 12.9 buy locally

05-1.5 4145 0958 80 M4x50 12.9 0211 1181 00
1.5-3.0 4145 0958 81 M4x30 12.9 0211 1177 00
3.0-6.0 4145 0958 82 M6x60 12.9 0211 1256 00
6.0-9.0 4145 0958 83 M6x35 12.9 0211 1251 00
9.0-25.0 4145 0958 84 M8x60 12.9 0211 1332 00

In-line torque transducers - Torque/angle models

Drive Hex Drive Square Rated capacity Ordering No.
(inch) (inch) (Nm)
IRTT 1A-106 vz 1 0.8 8092 1130 96
IRTT 2A-106 Yz 2 1.5 8092 1182 01
IRTT 5A-106 Ya 5 4 8092 1182 06
IRTT 5A-06 Ya 5 4 8092 1182 08

In-line torque transducers - Torque models

Drive Hex Drive Square Rated capacity Ordering No.
(inch) (inch) (Nm)
IRTT 5-106 Ya 5 4 8092 1129 05
IRTT 20-106 Ya 20 15 8092 1129 10

© Atlas Copco Industrial Technique AB - 9836 9272 01 17



Service EN LUM12 SR

Drive Hex Drive Square Rated capacity Ordering No.

(inch) (inch) (Nm) ft Ib)
IRTT 20-06 Ya 20 15 8092 1129 15
IRTT 25-10 3/8 25 18 8092 1129 20
IRTT 75-10 3/8 75 55 8092 1129 25
IRTT 180-13 VZ: 180 133 8092 1129 30
IRTT 500-20 Ya 500 369 8092 1129 35
IRTT 750-25 1 750 553 8092 1129 40
IRTT 1400-25 1 1400 1033 8092 1129 45

In-line torque transducers - Torque/angle models

Drive Hex Drive Square Rated capacity Ordering No.

(inch) (inch) (Nm) (ft Ib)
IRTT 2A-106 Yo 2 1.5 8092 1130 01
IRTT 5A-106 Ya 5 4 8092 1130 06
IRTT 20A-106 Ya 20 15 8092 1130 11
IRTT 20A-06 Ya 20 15 8092 1130 16
IRTT 25A-10 3/8 25 18 8092 1130 21
IRTT 75A-10 3/8 75 55 8092 1130 26
IRTT 180A-13 Ve 180 133 8092 1130 31
IRTT 500A-20 Ya 500 369 8092 1130 36
IRTT 750A-25 1 750 558 8092 1130 41
IRTT 1400A-25 1 1400 1033 8092 1130 46
IRTT 3000A-38 1% 3000 3000 8092 1130 51

18 © Atlas Copco Industrial Technique AB - 9836 9272 01



LUM12 SR

EN

Recycling

Recycling

Environmental Regulations

When a product has served its purpose it has to be recycled properly. Dismantle the product and recycle
the components in accordance with local legislation.

Batteries shall be taken care of by your national battery recovery organization.

Recycling information

10

Part:

Recycle as:

3918527883

~N o o~ wWwN -

oo

11
12
13
14

© Atlas Copco Industrial Technique AB - 9836 9272 01

Protection ring
Clutch housing
Clutch

Driver
Planetary gear
Planetary gear
Gear rim

Vane motor
Reversing valve
Valve rod

Reversing ring
Motor casing
Lever

Valve

Metal, Steel
Metal, Steel
Metal, Steel
Metal, Steel
Metal, Steel
Metal, Steel
Metal, Steel
Rubber

Metal, Steel
Metal, Aluminum
Metal, Steel
Plastics

Plastics

Metal, Aluminum
Metal, Steel
Metal, Steel

19



Recycling EN LUM12 SR

Part: Recycle as:
15 Filter Plastics
16 Distributor Metal, Aluminum
17 Adapter Metal, Steel

20 © Atlas Copco Industrial Technique AB - 9836 9272 01












Original instructions

PAP

Atlas Copco

ARDE

~’n

Atlas Copco Industrial
Technique AB

SE-10523 STOCKHOLM
Sweden

Telephone: +46 8 743 95 00
www.atlascopco.com

© Copyright 2023, Atlas Copco Industrial Technique AB. All rights reserved.
Any unauthorized use or copying of the contents or part thereof is prohibited.
This applies in particular to trademarks, model denominations, part numbers
and drawings. Use only authorized parts. Any damage or malfunction caused
by the use of unauthorized parts is not covered by Warranty or Product
Liability.

Out of respect to wildlife and nature, our technical literature is printed on
environmentally friendly paper.



	 Table of Content
	 Product Information
	 General Information
	 Safety Signal Words
	 Warranty
	 Website
	 ServAid
	 Safety Data Sheets MSDS/SDS
	 Country of Origin
	 Dimensional Drawings

	 Overview
	 Technical Product Data


	 Installation
	 Installation Requirements
	 Air Quality
	 Air Lubrication Guide
	 Compressed Air Connection


	 Operation
	 Ergonomic Guidelines
	 Configuration Instructions
	 Tightening torque 
	 Verification of tightening torque
	 Torque range of the clutch springs



	 Service
	 Maintenance Instructions
	 Service Recommendations
	 Service instructions
	 Tightening of Threaded Connections
	 Example

	 Grease Guide Screwdrivers
	 For Maximum Performance
	 Reporting, RE - Signal

	 Lubrication Instructions
	 Rust Protection and Cleaning
	 Grease Guide Screwdrivers
	 Lubrication of Motor Parts
	 For Maximum Performance

	 Testing of Tightening Torque
	 Torque and Angle Testing Instrument
	 Testjoint and Transducer
	 Soft joints
	 Hard joints
	 In-line torque transducers - Torque/angle models
	 In-line torque transducers - Torque models
	 In-line torque transducers - Torque/angle models

	 Test joints - High torque range

	 Air pressure monitoring, RE-signal S1
	 Free speed / Air consumption
	 Instructions for vane motor
	 Testing of tightening torque
	 Torque and angle testing instrument
	 Testjoint and Transducer
	 Soft joints
	 Hard joints
	 In-line torque transducers - Torque/angle models
	 In-line torque transducers - Torque models
	 In-line torque transducers - Torque/angle models



	 Recycling
	 Environmental Regulations
	 Recycling information


